MATH 155/CALCULUS ITI/MYERS

EXAM 1/8.1-8.5, 8.7
100 POINTS POSSIBLE/SCIENTIFIC CALCULATOR ONLY/NO TABLE FORMULAS

Part I: (60 Points/12 Points each) Problems 1-6: Evaluate the definite integrals and find
the indefinite integrals. Be sure o write down your evil plan(s) or strategies; especially
if you get stuck on a problem. Provide exact answers only. No graphing calculator is
permitted. No table formulas may be used. I'M ONLY GRADING 5 OUT OF THE 6

PROBLEMS, SO PLEASE CROSS OUT THE PROBLEM YOU DO NOT WANT ME TO
GRADE.
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Part IT: (12 Points) Problems 7-8: Find the indefinite integrals. Be sure to write down
your evil plan(s) or strategies: especially if you get stuck on a problem. Provide exact
answers only. I'M ONLY GRADING 1 OUT OF THE 2 PROBLEMS, SO PLEASE
CROSS OUT THE PROBLEM YOU DO NOT WANT ME TO GRADE.
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Part IIT: (18 Points). Problems 9-10. Evaluate the following limits. Exact answers only,
please.
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Part IV: (10 Points). Problem 11. Solve the following application. Exact answers only,
please.

T
Find the area of the region bounded by f(x) =cos* x ,¥=0,x=0,and. ¥*= ?
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EXTRA CREDIT: UP TO 12 POINTS
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